+EEH O E . 14 ways of complete control of mind

. —>
[1] JEE kasina anuloma ( in the forward AL lohita (red) 1~8

. —>
order of kasinas ) B odata (white) 1~8

o MAFHEERE 1~8 ( BRFAEEHRF )
¥ 1= #i& the1¥ jhana
e For every kasina, practise from the 1¥ to the 8" attainment.
2= % _i& the2"jhana
( emphasi ze on the sequence of kasinas )
3= =& the3"jhana

_> —on .
# pathavi (earth) 1~8 4= EMiE the4™jhana
— g v i .
7K apo (water) 1~8 5= ZEHBETE akasanabcayatanajhana
__ o pe e ke .
X tgo (fire) 1~8 6= MEBETE vibbanabcayatanajhana
> _ — .
& vayo (wind) 1~8 7= EFFEEE akibcabbayatanajhana
— > . .
¥& nilla(brown) 1~8 8= JEAIEIFEEE nevasabbanasabbayatanajhana

- _ —>
= plta(yelow) 1~8




—>
i pathavi 1~8
[2] FE kasina patiloma( in the reverse order

of kasinas )
e KFAXFRBIE~HE, BEHRE 1~8,

e For every kasina, practise from the 1% to the 8" attainment.( from

the white kasinato the earth kasina)

—
B odata 1~8




[3] JE#IE kasinaanuloma patiloma ( in the

forward and reverse orders of kasinas )
o |EEH—IX , BEM—IXEE,

® Practise the 8 kasinas in the forward order, then in the reverse

order.
— > — >
@ #b pathavi 1~8 | @ H odata 1~8
— . —
K apo 1~8 #I lohita 1~8
— e
X tegjo 1~8 & pita 1~8
— e
& vayo 1~8 = nila 1~8
. — —
¥R nila 1~8 & vayo 1~8
+=t = -— —
& pita 1~8 X tgo 1~8
— —
#T lohita 1~8 7K apo 1~8
— —
H odata 1~8 # pathavi 1~8




[4] )JE#& jhana anuloma ( in the forward
order of jhanas )

o BEIEN 1~8, IFHRE (EAEEMRF )

e For every kasina, practise from the 1% to the 8" attainment

(emphasize on the sequence of jhanas).
I

#t pathavi 1~8
—>

K apo 1~8

X tgjo 1~8

B vayo 1~8

’r nila 1~8

& pita 1~8

—
41 lohita 1~8

—
H odata 1~8




[5] & jhana patiloma ( in the reverse

order of jhanas )

fitE 8~ 1, BFeE, Al 1~8, REBM S8~ 1,
KB 8~1, BEFeE, BHI%EA 1~8, REBM S~ L,
HEHEHURE S R IET,

Practise the earth kasinato enter from the 8" to the 1% attainment.

If it is difficult to do so, you should first practise it to enter from
the 1% to the 8" attainment, then enter from the 8" to the 1%
attainment.

Practise the water kasinato enter from the 8" to the 1% attainment.

If it is difficult to do so, you should first practise it to enter from
the 1% to the 8" attainment, then enter from the 8" to the 1%
attainment.

The remaining kasinas should be practised in the same way.

>
# pathavi 8~1

% nila
& pita
4L lohita

H odata



[6] JE®Xi#& jhanaanuloma patiloma ( inthe

forward and reverse orders of jhanas )
o FEEM1~8, Bi8~1

e Practise every kasina to enter from the 1% to the 8" attainment,

then from the 8™ to the 1% attainment.

—
i pathavi 1~8,8~1

—

7K apo 1~8,8~1
. —>
X tgo 1~8,8~1

—>
B vayo 1~8,8~1

. _ —>
G nlla 1~8,8~1

. . —

= plta 1~8,8~1
. —

4L lohita 1~8,8~1

—>
H odata 1~8,8~1




[7] ®k# jhanukkantika or jhana-ukkantika
( skipping jhanas )

K apo, X tgjo, Bl vayo, ¥x nila, = pita #L lohita,

H odata —...... ( AR5 E44 inthe sameway )
WAL 3,5 7,R%A2 4 6, 8, R%3,. 5 7. 1......

EZ 8, 2, 4, 6,
HENSEESE M.

Practise the earth kasinato enter the 1%, 3", 5" and 7" attainments,

then the 2, 4" 6" and 8" attainments... until the 8", 2™ 4" and
6" attainments.

The remaining kasinas should be practised in the same way.

>
# pathavi 1 3 5 7
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[8]

BEiE kasinukkantika or kasina-ukkantika
( skipping kasinas )

S, K. R A ( BRALE ), KK, A, &, BH......

EEA. K A BE(ZRADE )

BRERS ., X, R AL ( T E0E , BEREAEZE ),

X, B, &, B......EFB. kK B, BE(EEASFZE)

B . K (EEAE=E) ... BRI HEN\E,

First, practise to enter only the 1% jhana from the earth, fire,

brown to red kasina, then from the water, wind, yellow, to white
kasina... until you practise from the white, water, wind, to yellow
kasina.

Again practise from the earth, fire, brown to red kasina, but enter

the 2" jhana directly.

Then practise from the earth, fire, brown to red kasina, but enter

the 3" jhana directly... Practise in this way, until you finish all

the 8 attainments.

i pathavi
7K apo
X tgo

& vayo
& nila

pita

i

4T lohita

H odata

A tejo

B vayo
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i pathavi
K apo
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vayo

nila

pita



[9] BtiE B2 &

jhana-kasina-ukkantika (

jhanakasinukkantika or

skipping
jhanas and kasinas )

EMEOERF , RMMMNE—1THIK  EALE, LNEE

BAZZE GEAZEESETE. AEBEAEMABERE.....EX

HEAEMBERE.

ABRMMEEZIT  WEERAFEZE. XEAZME......

EXHEAFBIEFBVEE.

REME=1T..... BEEBELENT.

DRHENFR , MEOBAXF..... . ERTHEOERF.

Practise @, the first sequence of kasinas, according to the first

column: First, enter the 1% jhana of the earth kasina, then the 3"
jhana of the fire kasina, the akasanabcayatana jhana of the

brown kasina, the akibcabbayatana jhana of the red kasina...
until the akibcabbayatana jhana of the white kasina

Then practise according to the second column: First, enter the 2™
jhana of the earth kasina, then the 4™ jhana of the fire kasina...

until the nevasabbanasabbayatana jhana of the white kasina.

Then practise according to the third column... until you finish al
the eight columns.

In the same way, practise @, the second sequence of kasinas...

until you finish ®, the eighth sequence of kasinas,.

o

#th pathavi 12 3 4 5 6 7 8
K teo 3 4 5 6 7 8 1 2
= nila 5 6 7 8 1 2 3 4
#IL lohita 7 8 1 2 3 4 5 6
K apo 1 2 3 4 5 6 7 8
[ vayo 3 4 5 6 7 8 1 2



& pita 5 6 7 8 1 2 3 4
H odata 7 8 1 2 3 4 5 6
® ® @ ® ® %)
Kapo Ktgo Evayo #Rnila =pita #£Ilohita H odata
B vayo #xnila HEpita #£ILIlohita H odata b pathavi 7K apo
FE pita #Llohita H odata i pathavi Kapo Ktego & vayo
H odata it pathavi Kapo Ktgo HEvayo #Enila & pita
Xtgo HEvayo #Rnila Epita #lohita H odata i pathavi
¥ nila HFpita #llohita H odata it pathavi X apo X tejo
#I lohita M odata b pathavi Kapo Ktgo [ vayo ¥ nila
e pathav i Kapo Ktego [Evayo #Enila = pita 4T lohita
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[10] #®X avgasavkantika (transposition of
factors)

EiEALE , RYNBEHERBREEES  BAESE , 5
TEHERERAES  BAEDE. . EIRFERFRRE
EHERBEEES,

KEBHDEAREEEZMEY , KEEEEHEREEEEX.

Practise the earth kasina to enter the 1% jhana. After emerging

from it, observe its jhana factors. Then enter the 2™ jhana. After
emerging from it, observe its jhana factors. Then enter the 3
jhana... until you finish all the 8 attainments.

You should practise in the same way from the water kasina to the

white kasina. You should observe the jhana factors of every
jhana.

e
#t pathavi 1~8

—
K apo 1~8

11

4T lohita

H odata



[11] EBAT#& arammana savkantika 4T lohita 1

(transposition of object)
H odata 1

o ZBEEHBIAANE , BEX/\BEEMT. RREEEHRIAF=
B, B/ EBMT. RAEBEBHMIAE=E..... . EFHE

ENEE,

® Practise every kasina to enter only the 1% jhana. Then practise

them to enter only the 2™ jhana. Then practise them to enter only
the 3% jhana... until you finish all the 8 attainments.

#h pathavi: 1 2 3 4 5 6 7 8
&k apo 12 3 4 5 6 7 8
X teo 12 3 4 5 6 7 8
R vayo 1.2 3 4 5 6 7 8
= nila 1 2 3 4 5 6 7 8
& pita 1 2 3 4 5 6 7 8
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[12] BXEfT#& avgarammana savkantika
(transposition of factors and object)

RALE B —1T  BEBANE KEAEZE NEAEZE......
EXHEAFBIFIFLREE,

BIREZIT  WEAFEZE. KEAEZE... BEADNE.
BIRE=17..... BERETmE/N\1T.

Practise according to the first column from the 1% jhana of the

earth kasina, the 2™ jhana of the water kasina, the 3" jhana of
the fire kasina... until the nevasabbanasabbayatana jhana of
the white kasina.

Then practise according to the second column from the 2™ jhana
of the earth kasina, the 3" jhana of the water kasina... until the
1% jhana of the white kasina

Then practise according to the third column... until you finish all
the eight columns.

#t pathavi 1:2 3 4 5 6 7 8

K apo
X tejo
& vayo
¥ nila
& pita
AL lohita

H odata



[13] X B9 E avgavavatthapana or avga-
vavatthapana (definition of factors)

o BHEAVE , HERBERBEXRSZDE, BASZE ,
EREEHEXRSDME..... EERFBFIFBEELE
%, BMEHEXEZDME,

o HEAWKENZEBEEUBERN A EREHLERX.

® Practise the earth kasina to enter the 1% jhana After emerging

from it, confirm how many jhana factors it has. Then practise in
the same way the 2™ jhana... until after emerging from the
nevasabbanasabbayatana jhana, confirm how many jhana
factorsit has.

® The jhana factors of various jhanas of the remaining kasinas

should be confirmed in the same way.

. —
#t pathavi 1~8

—
7K apo 1~8
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[14] FR#ZMITEE arammana vavatthapana or

arammana vavatthapana (definition of
object)

o BMEANE , HERBEHMBEA/ME ; BASZE , LE
BRECHMEAME, BAS=#... NERENELEERRE
EHFBAME ; BREMBEEAMAZERETE  HERE

EHMBAERET  BAREIEE , HERBEHMER

Het
A
[
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b
g/
H
i
H
3|
ot
Bt
[al3
B
i
R
S
i
ot
;.i'{
S
Biid
Het
B
[

REOHNAEE ; BAKEFFERE  BERBEHEMEZS

EREREED.
HERRKET E BB th AR #RRY 5 R E H AT i

Practise the earth kasina to enter the 1¥ jhana, and after emerging

from it confirm that its object is the earth kasina. Then enter the
2" jhana and after emerging from it confirm that its object is the
earth kasina... until after emerging from the 4™ jhana, confirm
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that its object is the eath kasina Then enter the
akasanabcayatana jhana by removing the earth kasina. After
emerging from it, confirm that its object is the infinite space. Then
enter the vibbanabcayatana jhana. After emerging from it,
confirm that its object is the akasanabcayatana jhana citta.
Then enter the akibcabbayatana jhana. After emerging from it,
confirm that its object is the absence of the akasanabcayatana
jhana citta. Then enter the nevasabbanasabbayatana jhana
After emerging from it, confirm that
akibcabbayatanajhana citta

its object is the

The objects of various jhanas of the remaining kasinas should be

confirmed in the same way.

# pathavi 1~8

—
K apo

X tejo



41 lohita

H odata

1~8

1~8
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